5.6 D 242 =201+ =2[|1 +i] =2VI2+ 12 =22
242123 (5 i) =23 (G i53) =22 (£ 09)
r=2v2 =

N

2) [3v3+43i| = |3(V3+i)| = |3||V3+i| =31/ (V3)2+ 12=3/4=32=6
3\/§+3¢=6(¥+¢g) :6(§+z§>
6

r==~6 Y=

3) [1—=V3i|=4/124+ (=V3)2=V1+3=V4=2
1-vBi=2( +i(- 23))

r=2 =3

4) |5 = |5||i| =5vV02 +12=5/1=5
5i=5(0+1i-1)
r=2>5 =73

5) |—3]=3
—3=3(-14+1i-0)
r=3 =T

6) |—2v3—2il=|—-2(V3+41i)|=|—-2|[V3+i| =2/(V3)?+ 12 =
2V3F1=2V4=2.-2=14
—2¢§—2¢:4(—¥+¢(—§)> :4(-@%(-%))

T

r=4 p=-Lr

N =7=Ti=|-7T0+4)|=|-7[1+i =TVI2+12=72
7 72—7f( Tt (——))—7[( %H(—%)):
TA(-f i)
r=72 go-%r

8) | —=3il=|-3|li| =3/02+12=3V/1=3

—3i=3(0+i-(-1))

r= Y= "5
9) |sin(a) + i cos(a)| = v/sin?(a) + cos?(a) = V1 =
sin(a) 44 cos(a) = cos(§ — a) +i sin(§ — )

r=1 =45«

Algébre : nombres complexes — forme trigonométrique Corrigé 5.6



